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QR

Home Physiology Systolic | Diastolic Rub,Gallop Lungs

Welcome to the Auscultation Assistant!

This site was designed in my fourth year of medical school at UCLA primarily for second-year medical students to help them
appreciate the different audio characteristics of heart murmurs and breath sounds. Click on the above tabs to cross between general
categories, and use the text buttons to the left to reach individual topics within each area. Enjoyl

hearing the
sounds

What's New?

{Updated -Chris
12/1/00)

http://www.med.ucla.edu/wilkes/inex.htm
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